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MPNHM Community Health Officers 01

Topic:- CHO 01

1) The term Thrombocytopenia means

IFATSCIUfeRI 91e¢ I 3ref &

[Question ID = 102]

1. Weakness of platelet aggregation / wiccle eadas2ur &t it [Option ID = 405]
2. Low platelet count / @1 wieele @se [Option ID = 406]

3. Increased platelet count / @kl @ 3 gis [Option ID = 407]
4. Normal platelet count / Jmre wieele @13 [Option ID = 408]

Correct Answer :-
e Low platelet count / @ wieele @wEe [Option ID = 406]

2) The function of flame cell is
SAICH BIIIBT BT BRI 3

[Question ID = 103]

1. Excretion / awere=met [Option ID = 409]
2. Digestion / uraer [Option ID = 410]

3. Respiration / «wet [Option ID = 411]
4. Reproduction / ysreret [Option ID = 412]

Correct Answer :-
e Excretion / sercamer [Option ID = 409]

3) Which of the following is a bleeding disorder
forgaiferf3aa 3i 3 lor 31 ThEa fadR &

[Question ID = 104]

1. Leukaemia / cedfrn [Option ID = 413]

2. Anaemia / wefifirn [Option ID = 414]

3. Haemophilia / gedifern [Option ID = 415]

4. Leucopenia / wrordifern [Option ID = 416]

Correct Answer :-
e Haemophilia / geiiferar [Option ID = 415]
4) Saliva contains an enzyme that acts upon which of the following nutrients
@R 3 Usirsa gl & St forgorferRae 31 31 fRpar Wiue dcd Uz BRI @
Question ID = 105]
1. Protein / gidiar [Option ID = 417]
2. Fat / @=m [Option ID = 418]
3. Starch / ser [Option ID = 419]
4. Minerals / zfort uaref [Option ID = 420]

Correct Answer :-

e Starch / zerd [Option ID = 419]

5) The rate of Drug absorption is greatest in the
3iterer sraenur i &2 AT 3iferp et 3

[Question ID = 106]

. Large intestine / @t siier [Option ID = 421]

. Stomach / ammgrr [Option ID = 422]

1

2

3. Gall bladder / faemerr [Option ID = 423]

4. Small intestine / 81t ariar [Option ID = 424]

Correct Answer :-

e Small intestine / 8It anie [Option ID = 424]

6) Which of the following bone is called Collarbone?
foraifelaa 3 31 R 5331 ol wicrdler war sirar 37
[Question ID = 107]

1. Acetabulum / ¥3fidgerr [Option ID = 425]

2. Pelvic / feawm [Option ID = 426]

3. Scapula / ¥dyger [Option ID = 427]

4. Clavicle / aenfaaser [Option ID = 428]

Correct Answer :-
e (lavicle / aenférper [Option ID = 428]

7) Which of the following is the master gland of the endocrine system?



forgaiferRaa 3 3 Blar sia:yredl dq 6B IIme= sjfer 37
[Question ID = 108]

1. Pancreas / swaanort [Option ID = 429]

2. Pituitary / ficgest [Option ID = 430]

3. Thyroid / ems3iss [Option ID = 431]

4. Adrenal / uf$gret [Option ID = 432]

Correct Answer :-
e Pituitary / facgedt [Option ID = 430]

8) Which of the following allows air to pass into the lungs

fergoiferfRae 3 3 oblot a1 I Bwsl A Siral bl sropAHfer S @

[Question ID = 109]

1. Aorta / sgrmrtt [Option ID = 433]

2. Esophagus / aemrclt [Option ID = 434]

3. Heart / ggr [Option ID = 435]

4. Trachea / =arercht [Option ID = 436]

Correct Answer :-
e Trachea / «armerctt [Option ID = 436]

9) The membrane that separates auditory canal from middle ear is

9JAVI 5182 I HEA Ul I 3[erel Bl arell Ricedt 3

[Question ID = 110]

1. Eustachian tube / zeforme aicht [Option ID = 437]

2. Tympanic membrane / w@ret @t ugf [Option ID = 438]

3. Labyrinth / cdfif¥er [Option ID = 439]

4. Pinna / wulurcft [Option ID = 440]

Correct Answer :-
e Tympanic membrane / @I @1 uet [Option ID = 438]

10) In the demographic cycle is high stationary stage is characterized by

SlorAiR=IhRI Ty 3 Ica Rerr sraven o1 fadraan forer aielt

[Question ID = 111]

1. High birth rate and a high death rate / 3<a s 52 3l 3ca 5cg o2 [Option ID = 441]
2. The death rate begins to decline, while the birth rate remains unchanged / 35 ¢ @ gt oKt 8, Stafds siea g2 amf¥afela zacdt & [Option ID = 442]

3. Death rate declines still further, and the birth rate tends to fall / 3 g2 amft sft aiftrs ae 38 &, i oot o2 BrR 2a1 & [Option ID = 443]
4. Low birth and low death rate / @ur S 3iiz @ gy g2 [Option ID = 444]

Correct Answer :-
e High birth rate and a high death rate / 3za S g2 3R 3za I g2 [Option ID = 441]

11) Maternal mortality rate is expressed in terms of
I P g2 DI fo1gol WU 3 oaep v Sirear &

[Question ID = 112]

1. Per 1000 / gfer 1000 [Option ID = 445]

2. Per 10,000 / gfer 10,000 [Option ID = 446]

3. Per 100,000 / gfer 100,000 [Option ID = 447]

4. Per 1000,000 / yfer 1000,000 [Option ID = 448]

Correct Answer :-
e Per 100,000 / gfer 100,000 [Option ID = 447]

12) In India high birth rate is due to all of the following reasons except

311 J1 I Slodl <2 forgaifeiRaa sft wrull &I asis A &, RBar

[Question ID = 113]

1. Early puberty / yrRféro diaer [Option ID = 449]

2. Universality of marriage / fiars @t amdsiifdrear [Option ID = 450]

3. Early marriage / Sredt fooen s frars [Option ID = 451]

4. High level of literacy / Jngrar @1 3ca xw= [Option ID = 452]

Correct Answer :-
e High level of literacy / amgrrm @1 3ca ¥ [Option ID = 452]

13) Population statistics include indicators that measures all the following except

SIGIRITRI @ 3ficbsl 3 Adam onfirer E &it forstferRaa it @) amua 3, Rarx
[Question ID = 114]
1. Population size / Sweewien [Option ID = 453]

2. Sex ratio / féfer srgure [Option ID = 454]
3. Dependency ratio / forsfae arequrt [Option ID = 455]
4. Morbidity rate / sourm gz [Option ID = 456]

Correct Answer :-
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e Morbidity rate / Fourm g2 [Option ID = 456]

14) The ratio of number of pregnancies in a year to married women in the ages 15 to 44 years is called
s ol 3 srefersur ft Foamr A 15 A 44 ad &t sy A RaiRa afdcmsit & sioqura ot oot war s 3

[Question ID = 115]

1. Gross reproduction rate / el ysiorer &2 [Option ID = 457]

2. Net reproduction rate / 9g ysleret g2 [Option ID = 458]

3. Pregnancy rate / swifazen g2 [Option ID = 459]
4. Marriage rate / fiarg gz [Option ID = 460]

Correct Answer :-

e Pregnancy rate / sterfazen g2 [Option ID = 459]

15) The constant presence of a disease or an infectious agent within a given geographical area is called
=it fSu s1u siisnifer &g @ sfir Reft domdt = AqEre wsic & forar sulerfd @1 war srar 3

[Question ID = 116]

1. Pandemic / rdeardt sreemst [Option ID = 461]

2. Epidemic / ssmmd [Option ID = 462]

3. Endemic / Zenfors [Option ID = 463]
4. Sporadic / F@f¥® [Option ID = 464]

Correct Answer :-

e Epidemic / agEmd [Option ID = 462]

16) The person, animal, object or substance from which an infectious agent passes or is disseminated to the host is called
ag b, SielaR, a¥q A1 ueref RRRY Jayers gle serar 3 & Qiftiar i genfyda fisar sirar &, 331 forget @ar sirar &

[Question ID = 117]

1. Reservoir / sisr [Option ID = 465]

2. Source / 3 [Option ID = 466]

3. Carrier / @@ [Option ID = 467]
4. Latent infection / sfafsifda siapor [Option ID = 468]

Correct Answer :-

e Source / 3« [Option ID = 466]

17) When two live vaccines are required it should be given
ST &Y S At 6l smaearasdr 3 dt 33 f& S @z

[Question ID = 118]

1. Simultaneously at different sites / u® Jmer fafdreer SPIET w2 [Option ID = 469]
2. Simultaneously in the same site / Jmer & was & Swerat 3 [Option ID = 470]

3. Both together as IV / sm&ft @ Fu 3t Sleil & 2mer [Option ID = 471]
4. All of these / 2 3mft [Option ID = 472]

Correct Answer :-

e Simultaneously at different sites / was 2ner fafdser serel iz [Option 1D = 469]

18) When antibodies produced in one body are transferred to another to induce protection against disease it is called
ST U 9r81? 3 Ieucet gferell bl Aer A Fara @ 1w gy oz A remetialyda fisn sirar & aY 331 @al Sirar &

[Question ID = 119]

1. Active immunity / aifd yferzgm [Option ID = 473]

2. Herd immunity / e gfergm [Option ID = 474]

3. Passive immunity / fiftazr yferem [Option ID = 475]
4. Cellular immunity / @fdrr yfergn [Option ID = 476]

Correct Answer :-

® Passive immunity / feiftag gferem [Option ID = 475]

19) Episiotomy has to be done during

udifiaicisht @ Siarel fape Sirett 3
[Question ID = 120]

1. First stage of labour / gra @1 ugenr @rur [Option ID = 477]
2. Second stage of labour / gara @t ggrar azur [Option 1D = 478]
3. Third stage of labour / yzra @ «fizrar azur [Option ID = 479]
4. None of these / ot 31 @ sft o1&t [Option ID = 480]

Correct Answer :-

e Second stage of labour / gzra @1 ggrr @rur [Option ID = 478]
20) A woman who never given birth to a child
v Ol Afden RrIe Tt ac & Sioa ordl e
[Question ID = 121]
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Nullipara / @iférarer [Option ID = 481]
Nulligravida / srecfis)first [Option ID = 482]
Primipara / fifémrer [Option ID = 483]
Parturient / wzgfewsc [Option ID = 484]

AW N =

Correct Answer :-
e Nullipara / aimrr [Option ID = 481]

21) A peptide hormone produced almost exclusively by the corpus luteum of pregnancy is
snifaven & wida cgfar FrI cPneT 19 wu A forfifa ve Uwerss sEilo

[Question ID = 122]

Leptin / @ftcer [Option 1D = 485]

Relaxin / f¥ifrrar [Option ID = 486]

Estriol / ef¥gsie [Option ID = 487]

PAPP -A / tieridt-w [Option ID = 488]

A W N =

Correct Answer :-

® Relaxin / Raifdrr [Option ID = 486]

22) Increased pigmentation in the face during pregnancy is called
arufazen & Shror Ay 3 a3 gU ISTEAT DY WET ST &

[Question ID = 123]

1. Linea nigra / cfiforr Bep [Option ID = 489]

2. Striae gravida / ¥gs=n 3Jfast [Option ID = 490]

3. Chloasma / @eiemen [Option ID = 491]

4. Caput medussa / @ye diggan [Option ID = 492]

Correct Answer :-
e Chloasma / acheem [Option ID = 491]

23) The thin serous fluid secreted from breast during the first 24 to 48 hours is called
uscl 24 3 48 wTl @ Srel el A i dlol arcl Ul A ga Pl sl ST 3

[Question ID = 124]

1. Foremilk / 3wt [Option ID = 493]

2. Hind milk / @& g [Option ID = 494]

3. Colostrum / @wieitzgar [Option ID = 495]

4. All of these / & auft [Option ID = 496]

Correct Answer :-
e Colostrum / wiciizgar [Option ID = 495]

24) The essential obstetric care provided under RCH phase | is all of the following except

siAiea @RI | @ dsda ggeret &l it daredl siraeras gRIfer Sxasire eifeiRad il 3, Riarx

[Question ID = 125]

1. Early registration of pregnancy / swrfazen ot yrfds dsftaszur [Option D = 497]

2. Provision of minimum 10 antenatal check up by ANM or medical officer / weerea an Riftpea siferprét R st 10 Seer yd stie @1 yraeret [Option D = 498]
3. Provision of safe hospital or home delivery / 33T sreuerer 2 @2 w2 yzra a1 graanet [Option ID = 499]
4. Provision of three post natal check ups / grawmrer @ arg et Sifa @1 yraems [Option (D = 500]

Correct Answer :-

e Provision of minimum 10 antenatal check up by ANM or medical officer / veetea a1 Riftbea IfepRl @11 wRporet 10 Sea g stia @t yraeret [Option ID = 498]
25) Benefits of kangaroo mother care are all of the following except

WOTIRe ATAT STANTCT D el forarferRaa asft &, Rrara

[Question ID = 126]

1. Improves mother baby bond / a1 919 derer 3t 3rme [Option ID = 501]

2. Increases milk production in mothers / amrait 3t g @1 curGer a@rar & [Option D = 502]

3. Increases infection in babies / f3rgy3it 3t sy aeiem & [Option ID = 503]
4. Keeps baby warm / gt @t spf 22aen 3 [Option ID = 504]

Correct Answer :-
e |Increases infection in babies / forgjait 3 Jiapmr aeren & [Option ID = 503]

26) A pregnant woman should visit the antenatal clinic twice a month during which of the following months of pregnancy
snfaredt aifgen @ smifazen @ frwsifelRaa 3 A oo #dlor 3 #&ial 31 S an Yarayd frerfore 3 Sirelr e

[Question ID = 127]

1. 6th month / 6ar sidlenm [Option ID = 505]

2. 7th month / 7ai sidten [Option ID = 506]

3. 8th month / 8ai ardten [Option ID = 507]

4. 9th month / 9ai sidlem [Option ID = 508]

Correct Answer :-
e 8th month / 8ai adlem [Option ID = 507]



27) The objectives of antenatal care are all of the following except

gragd SEre @ 389 frgerferi¥ad il &, Rrar:n:

[Question ID = 128]

1. To promote and protect the health of the mother / e @ Fazear @t a@rar ot ailz BT 28T w2l @ ferw [Option ID = 509]
2. To prevent adolescent pregnancy / faoiiz smsifazer @1 3wat & e [Option ID = 510]

3. To reduce infant and maternal mortality / f3rg] aiiz a1y 3/ &2 @Y @t @w2al d fere [Option ID = 511]
4. To attend under fives accompanying the mother / amer d> 3er armar arel ufer e Gxasiet azon [Option ID = 512]

Correct Answer :-
e To prevent adolescent pregnancy / fasoi srsifazen @ Jasar @ fere [Option ID = 510]

28) At 20 weeks of pregnancy uterine fundus is palpable at
snstfazen & 20 16 3 S1HI9RI @1 Iy forgel uR Fuglsicr &
[Question ID = 129]

1. Abdomen / %e [Option ID = 513]

2. Lower border of umbilicus / anfdr &t feraeft 2ftom [Option ID = 514]

3. Just below xiphisternum / u23i¥er @ dlas offa [Option ID = 515]

4. At the level of xiphisternum / uRdif¥er @ 3= uz [Option ID = 516]

Correct Answer :-
e Lower border of umbilicus / omfdr < forercht 2fter [Option ID = 514]

29) The immunoglobulin which protects the newborn against enteric infections is
SHRIGIIECISIICTe Sil IS bl 3iid] AT A TR 3, I8 &

[Question ID = 130]

1. IgA / amgsht & [Option ID = 517]

2. gD / amésfist [Option ID = 518]

3. 1gG / amsshist [Option ID = 519]

4. IgM / amsiear [Option ID = 520]

Correct Answer :-

e |gA / st & [Option ID = 517]

30) The recommended dosage of vitamin A supplement to be administered orally once in every six months for a three-
year-old child is

fiet adf & T D e 32 ¥z HHA A v ar Alaw wu A RY Sier ardl ferfier A gea 6 ool gre 3

[Question ID = 131]

1. 5000 1U / 5000 amézg [Option ID = 521]

2. 50,000 IU / 50,000 amszy [Option ID = 522]

3. 1,00,000 IU / 1,00,000 sy [Option ID = 523]

4. 2,00,000 IU / 2,00,000 s [Option ID = 524]

Correct Answer :-

e 2,00,000 IU / 2,00,000 amszy [Option ID = 524]

31) In Children with Diarrhea the main aim of ORS therapy is to

g¥d A Hifza acdl 3 st SRUl &I IRRT 3293 3:

[Question ID = 132]

1. Prevent Dehydration / forsfeftasaur @t 3t [Option ID = 525]

2. Reduce Mortality / e g2 3t wsft [Option ID = 526]

3. To correct water and electrolyte deficit / urft 3z Rgrsmaca 6t waft @t St @wo1 a e [Option ID = 527]
4. All of these / 2 Jwft [Option ID = 528]

Correct Answer :-

e All of these / & 3meft [Option ID = 528]

32) First dose of hepatitis B is given at
3UersRRA dl &I uscll IR foreer wr 6t SIredl 3
[Question ID = 133]

1. Birth / swar [Option ID = 529]

2. 14 weeks / 14 a1 [Option ID = 530]

3. 6 months / 6 adtar [Option ID = 531]

4. 9 months / 9 aidter [Option ID = 532]

Correct Answer :-

e Birth / swer [Option ID = 529]

33) Pellagra is caused due to the deficiency of
ety fRoadst walt & wruT dlar 37

[Question ID = 134]

1. Riboflavin / Jsdiwaifder [Option ID = 533]

2. Niacin / Brufer [Option ID = 534]

3. Pyridoxine / wisisiaafier [Option ID = 535]

4. Folate / wicle [Option ID = 536]
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Correct Answer :-

e Niacin / fernfrer [Option ID = 534]

34) The route of administration of DPT vaccine is
SIiE & @ yomtel @1 Al 8

[Question ID = 135]

1. Intradermal / <gssfer [Option ID = 537]

2. Subcutaneous / JraaieierRT [Option ID = 538]

3. Intramuscular / sgprager [Option ID = 539]

4. Intravenous / sc@srt [Option ID = 540]

Correct Answer :-
e Intramuscular / sgErager [Option ID = 539]

35) The most preferred vaccination site for hepatitis B vaccine in infants is
foreraii i FUersied & @ & o forw a1 WRIcicr SwImvT Fore &

[Question ID = 136]

1. Intradermal / scrssfer [Option ID = 541]

2. Vastus lateralis / arga cicfert [Option ID = 542]

3. Intravenous / sgriert [Option ID = 543]

4. Central venous catheter / Jicer o1t DAz [Option D = 544]

Correct Answer :-

e Vastus lateralis / agat dezferat [Option ID = 542]
36) Pentavalent vaccine is given at
URIed D Bl ____ R Rarsmar @
[Question ID = 137]

1. 4,8,12 weeks / 4,8,12 s [Option ID = 545]

2. 5,10,15 weeks / 5,10,15 smms [Option ID = 546]
3. 6,10,14 weeks / 6,10,14 3ma1s [Option ID = 547]
4. 4, 8,16 weeks / 4, 8,16 3mars [Option ID = 548]

Correct Answer :-

e 6,10,14 weeks / 6,10,14 3rars [Option ID = 547]

37) Weekly Iron and Folic Acid Supplementation (WIFS) Programme is meant for

ATHIR® IRRA 3i= Gifers vhits awfidieor (WIFS) ®riaga foa & fee &

[Question ID = 138]

1. Adolescent girls & lactating mothers / fRpoif=r 3iz erurer w2t areft amreme [Option ID = 549]

2. Adolescent boys, pregnant mother & lactating mothers / 5ol ersd, srsfacdt aimr 3z Jemurer @2ret areft @ [Option ID = 550]
3. Pregnant women / ansfaet sifdem [Option ID = 551]

4. Adolescent boys and girls / fpeliz ersd 3l ersfinet [Option ID = 552]

Correct Answer :-

e Adolescent boys and girls / fbolz ersd 3iiz ersfasai [Option ID = 552]

38) The adolescent health programme provides iron and folic acid supplementation on
fepoll Farzed ®RImd, IRR 3R Bifeld TRIS Bl FRIP® Bl Uz Yglel Bl 3

[Question ID = 139]

1. All days / 3mft et [Option ID = 553]

2. Fixed days every week / &2 awl ferfr f&et [Option ID = 554]

3. Once a month / adar 3t ws arz [Option D = 555]

4. Once every 2 months / & 2 adiar 3 v arz [Option ID = 556]

Correct Answer :-

e Fixed days every week / &2 awl foif et [Option ID = 554]

39) To maintain the health of adolescent and for control of helminths infection Tab Albendazole is administered
fepoIRRI @5 Farze ol Jollg ol 3iiv PR Jigdur & BrRIqUI & v Tq wedsild Gar siar

[Question ID = 140]

1. Once a year / v ad 3 wes arz [Option ID = 557]

2. Twice a year / ad 3i g1 arz [Option ID = 558]

3. Three times a year / ad di ¢fter arz [Option ID = 559]

4. Once every three months / &2 tfter arditor 3t vas arz [Option ID = 560]

Correct Answer :-

e Twice a year / ad 3 gt are [Option ID = 558]

40) The only way to limit the size and control the interval between births is by
3BT B A Dot i1z STodil B dier o 3icRIeT B FBRIfA @01 BT Tasarg aileT Bre ZrT 3
[Question ID = 141]
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Reducing maternal mortality / a1 3 g2 @t @wat won [Option ID = 561]
Family planning / uf¥arz forismer [Option ID = 562]

Health counselling / Farrear wmiel [Option ID = 563]

All of these / 3 3sft [Option ID = 564]

AW N =

Correct Answer :-
e Family planning / uf¥arz foriser [Option ID = 562]
41) Measles is caused by
T forge1 D BRI Bl §
[Question ID = 142]
Varicella zoster / 81t daw grg [Option ID = 565]
RNA paramyxovirus / 3meeere Temmsa=iarra [Option ID = 566]
Rubella virus / Fgem arrat [Option ID = 567]
Influenza virus / geucEsn arRA [Option ID = 568]

A W N =

Correct Answer :-

e RNA paramyxovirus / 3muee Sarnsazitarrz [Option ID = 566]

42) National Vector borne disease programme covers the following diseases EXCEPT
I darez Sifore o1 BRI 37 DI B1sH: foworfcilRaa denfyrn onfire 3:
[Question ID = 143]

1. Malaria / s@f=n [Option ID = 569]

2. Leprosy / @w Je1 [Option ID = 570]

3. Chikungunya / Rrperyferar [Option ID = 571]

4. Japanese encephalitis / Sureft werRwferfesr [Option ID = 572]

Correct Answer :-

e |leprosy / @w et [Option ID = 570]

43) The Kala azar fever is transmitted through the bite of
PICIGIR AR @ prcol 3 el 3

[Question ID = 144]

1. Dragon fly / Ssreweng [Option ID = 573]

2. Tsetse fly / cdeeft srarxdt [Option ID = 574]

3. Sand fly / ssarer=ft [Option ID = 575]

4. All of these / & zsft [Option ID = 576]

Correct Answer :-

e Sand fly / asaraxdt [Option ID = 575]

44) All of the following infections are caused by RNA virus except
Rreaifeil¥aa Jsft AT 3IRTsIE arRA A 3l 8, Rar

[Question ID = 145]

1. Poliomyelitis / QiRrBRIRKAT [Option ID = 577]

2. Mumps / swea [Option ID = 578]

3. Rubella / =dem [Option ID = 579]

4. Small pox / @ [Option ID = 580]

Correct Answer :-
e Small pox / a&w [Option ID = 580]

45) In following which disease is caused by varicella zoster
Afser siivez A forgot A A Blor-AT AST TN 2-

[Question ID = 146]

1. Diptheria / fStefifyen [Option ID = 581]

2. Leprosy / @w 31 [Option ID = 582]

3. Symphilis / Bewferr [Option ID = 583]

4. Chicken Pox / @t amen [Option ID = 584]

Correct Answer :-
e Chicken Pox / &1 aen [Option ID = 584]

46) When the diarrhoea lasts for more than 14 days it is called
S g3 14 Roll A 31f2ras JIRI b I5aT 3 dl 33 Dal ST 3
[Question ID = 147]

1. Dysentery / SRict [Option ID = 585]

2. Acute watery diarrhoea / fiq uel SR g [Option ID = 586]

3. Persistent diarrhoea / eeFR g [Option ID = 587]

4. All of these / 2 it [Option ID = 588]

Correct Answer :-
e Persistent diarrhoea / eeIR g [Option ID = 587]



47) A protozoal disease caused by infection with parasites of the genus plasmodium is
Shlort Tl & usildl & JHaur @ BRI dlel arcll YICISIaie AT 3

[Question ID = 148]

1. Typhoid / erwrss [Option ID = 589]

2. Malaria / s@fs=r [Option ID = 590]

3. Dengue / Ssft [Option ID = 591]

4. Dracunculiasis / Saergfernfrr [Option ID = 592]

Correct Answer :-

e Malaria / ifs=m [Option ID = 590]

48) All the following infections are transmitted through exposure to infectious blood are all except
forsaiferfaa it FazavT JAGRIEG 6 & Aus i 36 A B &, Brarr

[Question ID = 149]

1. Hepatitis B / 3%erfear ¢t [Option ID = 593]

2. Hepatitis C / 3lesfea it [Option ID = 594]

3. HIV / waamédt [Option ID = 595]

4. Hepatitis E / 3%esfea € [Option ID = 596]

Correct Answer :-

® Hepatitis E / aesier € [Option ID = 596]
49) The virus that causes dengue is
AR Sil 33 DI BRUI Foldl &
[Question ID = 150]

1. Arbovirus / smtarrzzr [Option ID = 597]

2. Flavivirus / wfarrzr [Option ID = 598]
3. Retrovirus / ¥arsr [Option ID = 599]

4. DNA virus / Slesre arrer [Option ID = 600]

Correct Answer :-

e Flavivirus / wafdarra [Option ID = 598]

50) The modifiable risk factors of hypertension are of the following except
I Tharu @ uf¥acdofl siiRas ore refialRad 3, Rarn

[Question ID = 151]

1. Salt intake / oB1D @1 At [Option ID = 601]

2. Obesity / #lterar [Option ID = 602]

3. Alcohol / erm [Option ID = 603]

4. Genetic factors / S@ife® wrw [Option ID = 604]

Correct Answer :-

e Genetic factors / S@iRw @R [Option ID = 604]

51) Government launched NPCDCS program to target

IR of @I eIferd ol @ e vordRAiShilear wriaH 9ps Reer
[Question ID = 152]

1. Cancer / @az [Option ID = 605]

2. Cardiac diseases / & 31 [Option ID = 606]

3. Diabetes / agpis [Option ID = 607]

4. All of these / 2 it [Option ID = 608]

Correct Answer :-

e All of these / & Jft [Option ID = 608]

52) A group of diseases characterized by abnormal growth of cells, capable of invading the adjacent tissues and even
distant organs is called

PP @ RIBIG fyprRT &t Ridtvar arel 51 &I U I, S ARIGT SHadl 3R Asl ab b g o 3ivIl U= AIaeIvI w2l 3 A 3, A bal
SIIer &

[Question ID = 153]

1. Hypertension / 3ca xpam [Option ID = 609]

2. Cancer / @az [Option ID = 610]

3. Coronary artery disease / uR¥eq-ewwit 31 [Option ID = 611]

4. Diabetes mellitus / sz [Option ID = 612]

Correct Answer :-

e Cancer / @z [Option ID = 610]

53) Cancer that has spread to regional lymph nodes and distant organs is called
DI Sl giefia erilot sjfe 3iiv g3 @ 3l dd el SRI &, IA Dal SIIdl &

[Question ID = 154]
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Primary tumour / grerfds R [Option ID = 613]
Secondary tumour / Fmeafis gggR [Option ID = 614]
Lymphoma / fefwier [Option ID = 615]

Leukemia / w=dRrn [Option ID = 616]

AW N =

Correct Answer :-
e Secondary tumour / Feafdcs R [Option ID = 614]
54) The adverse effects of obesity are all of the following except
ey @ yferper Yarra Hreifelaa sl 3, Barn
[Question ID = 155]
Hyperlipidemia / sewferdsfirn [Option ID = 617]
Glucose intolerance / scpot srifdwyen [Option ID = 618]
Hypotension / arca 3p-ama [Option ID = 619]
Coronary heart disease / &g - adeit 3o1 [Option ID = 620]

A W N =

Correct Answer :-
e Hypotension / arcu xp-ama [Option ID = 619]

55) Xerophthalmia can be controlled by administration of which of the following vitamin
SRITSifeIrn @t forgarferi¥ad 3 A fpar feif3or & yenror @RI forife fsar s aasar 3

[Question ID = 156]

1. Vitamin D / Rrerfror €t [Option ID = 621]

2. Vitamin B6 / Reifier dt6 [Option ID = 622]

3. Vitamin A / Rerfirer g [Option ID = 623]

4. Vitamin E / ferférer € [Option ID = 624]

Correct Answer :-

e Vitamin A / Rerfier g [Option ID = 623]

56) Diabetes mellitus is usually recognized by
FgHE Afered RIAR R PR ERI Usdel ST 3
[Question ID = 157]

1. Albuminuria / «ersdis [Option ID = 625]

2. High SGPT / 3ca warsitdic [Option ID = 626]

3. Glycosuria / gras@is [Option ID = 627]

4. Urea in the urine / g 3i gf¥en [Option ID = 628]

Correct Answer :-

e Glycosuria / 9rase@is [Option ID = 627]

57) Wilson disease characterized by

Rrearat et &Y fR9rwar &

[Question ID = 158]

1. Respiratory difficulty / «ae1 wfdans [Option ID = 629]

2. Accumulation of copper in liver, kidney and brain / BpR, 31 3ii aif¥was 3t aid @1 3icrr [Option 1D = 630]
3. Improper development of organ / sist @ srejferT fRirt [Option ID = 631]

4. None of these / sout 31 @i ol [Option ID = 632]

Correct Answer :-

e Accumulation of copper in liver, kidney and brain / RpR, 31& iz aif¥awn 3 i@ @ 3frr [Option ID = 630]
58) Which is the following disease not cancer?

forgaiferRaa 3 3 Blor-AT AT DA 1t 37

[Question ID = 159]

1. Glaucoma / sefimren [Option ID = 633]

2. Leukemia / afésfrm [Option ID = 634]

3. Carcinoma / wif¥fsien [Option ID = 635]

4. Sarcoma / amhr [Option ID = 636]

Correct Answer :-
e Glaucoma / seirprn [Option ID = 633]

59) The goal of National Framework for Malaria Elimination in India is by
e 3 AR IogcTol D fo1T ITERT IWITAT DI TG 3.

[Question ID = 160]

1. 2024 / 2024 [Option ID = 637]

2. 2025 / 2025 [Option ID = 638]

3. 2027 / 2027 [Option ID = 639]

4. 2030 / 2030 [Option ID = 640]

Correct Answer :-
e 2030 / 2030 [Option ID = 640]



60) The national health program that aims to reduce maternal mortality among pregnant women by encouraging them to
deliver in government health facilities is called

ISR Farred wrigd RrieT 32ea spiad afdensil 3 A I 52 D) Bd BB Iod IRPR Fared Jremsii d falka w0 & e QeniRa
DIl 3, IA Dl ST

[Question ID = 161]
1. Janani Suraksha Yojana / Swereft e isen

[Option ID = 641]
2. Navjat Shishu Karyakram / srasirT f919] wriawt

[Option ID = 642]
3. Rogi Kalyan Samiti / 3weft aseanor aifaifer

[Option ID = 643]
4. None of these / sort 3 ©1F oft ordt

[Option ID = 644]

Correct Answer :-
e Janani Suraksha Yojana / Swereft e isen
[Option ID = 641]
61) National Programme for Family Planning launched officially in the year
af¥ar forilsiol @ fére Icéia BrRiay nfreii¥e ik uz ad 3 9Rs 11 srRI
[Question ID = 162]
1. 1951 / 1951 [Option ID = 645]
2. 1952 / 1952 [Option ID = 646]
3. 1956 / 1956 [Option ID = 647]
4. 2008 / 2008 [Option ID = 648]

Correct Answer :-
e 1952 / 1952 [Option ID = 646]

62) National AIDS control program includes

ISEI ugA oriquI wriaa 3 onfer

[Question ID = 163]

1. IEC activities / sn$sft aiferfaférr [Option ID = 649]

2. AIDS education / wga fagm [Option ID = 650]

3. University talk AIDS program / fafdemerr Jwomaur gg3t wrlayt [Option ID = 651]
4. All of these / & it [Option ID = 652]

Correct Answer :-
e All of these / & amft [Option ID = 652]

63) Under the WHO ‘Vision 2020 programme. the ‘SAFE‘ strategy is adopted for which of the following diseases?
Secquasil @ 'fAstel 2020 wrRigH o dea forsifiRad 3 21 e Ae1 & e 'A%’ ek sruend st &7

[Question ID = 164]

1. Trachoma / gawen [Option ID = 653]

2. Glaucoma / siifernfeis [Option ID = 654]

3. Diabetic retinopathy / s 2idft efeucefaafer [Option ID = 655]

4. Onchocerciasis / sifsorRiRRnBRI [Option ID = 656]

Correct Answer :-
e Trachoma / wwm [Option ID = 653]
64) In which of the following city Elephant festival is celebrated
forvaferlRaa 3 31 bt 9182 3 arelt Seara FoIr Sirer 3
[Question ID = 165]
Bangalore / Jereiiz [Option ID = 657]
Hyderabad / 3gzmars [Option ID = 658]
Kolkata / @rerprr [Option ID = 659]
Jaipur / srgz [Option ID = 660]

A wWN =

Correct Answer :-

e Jaipur / srigz [Option ID = 660]

65) International Yoga Day is celebrated on
SRR Mot SRt forgol UR eI ST 3
[Question ID = 166]

1. May 21 / 21 & [Option ID = 661]

2. June 11 / 11 g [Option ID = 662]

3. June 21 / 21 Spat [Option ID = 663]

4. July 11 / 11 e [Option ID = 664]
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Correct Answer :-
e June 21 / 21 S [Option ID = 663]

66) Which is the most popular classical dance form of tamil Nadu?
AfdreTollg T A3 clIBIRT QIR ofea Pl AT &7

[Question ID = 167]

1. Bharathanatiyam / sreencey [Option ID = 665]

2. Kathak / werp [Option ID = 666]

3. Kuchipudi / mfigst [Option ID = 667]

4. Mohiniyattam / sifgsfiargar [Option ID = 668]

Correct Answer :-
e Bharathanatiyam / sreenczny [Option ID = 665]

67) The study of atmosphere is called
AN & EIRTT DY DB 3

[Question ID = 168]

1. Geology / sprsforeey [Option ID = 669]

2. Nephology / asiiférsmer [Option ID = 670]

3. Meterology / siaf¥gr-R=mer [Option ID = 671]
4. Seismology / sppufi=ier [Option ID = 672]

Correct Answer :-
e Meterology / siaf¥gi-faemet [Option ID = 671]

68) The state in which Konark temple is present
3121 s 3 3R Hfe: Alse 3, a8 3

[Question ID = 169]

1. West Bengal / uf¥er gorrer [Option ID = 673]

2. Odisha / siif$am [Option ID = 674]

3. Nagaland / amemcts [Option ID = 675]

4. Assam / srm1 [Option ID = 676]

Correct Answer :-

e Qdisha / ahf3em [Option ID = 674]

69) A5 year old child is admitted in hospital. The best nursing action for parents who are displaying anger and guilt is
5 ad o1 acan sudre A ol 8 @ler i srRierdler YgiRia e Jrar-Riar & fere wrdlaa sifisr fgan 3

[Question ID = 170]

1. Give personal examples that are similar to their situation / sftpor 3arsur & St Iorht Rerfer @ 3wmer & [Option ID = 677]

2. Distract their attention to something less painful / Jorer et fipeft @at weegrID it Bt sl eeme [Option ID = 678]

3. Explain the dangers of excess anxiety and guilt / srféfas Riar 3l sruRrerder @ IRl B =mex=n 3 [Option ID = 679]

4. Anticipate their emotional responses and acknowledge them / 3orbt smaeerds yfeifipzmail at srgprel come i Jorpt R B3 [Option 1D = 680]

Correct Answer :-
e Anticipate their emotional responses and acknowledge them / 3ercht srraeirearas yferfpzmail @1 srepmrel cIE ik Iotept TR @3 [Option 1D = 680]

70) When a child is in acute phase of nephrotic syndrome, which of the following is an essential measure the nurse should

take

SId I g aplfed Rigla &t diq sraven 3 alar 8, dl ori ol forsaifeiRaa 3 31 Pler AT 3MARISG IURI BN AMZT
[Question ID = 171]

1. Urine dipstick to be done every hour / f¥er Bul¥cw &2 & &t sl @nfde [Option ID = 681]

2. Measure abdominal girth every two hours / &2 Gt & 3 Oc @1 &1t omi [Option ID = 682]

3. Check hematocrit value every 12 hours / &2 12 & 3 &fdx =1 <t sifa @ [Option D = 683]

4. Weigh the child daily / Jsien a=a @1 aetet @ [Option ID = 684]

Correct Answer :-

o Weigh the child daily / Jrsmen aca @1 asrer @ [Option ID = 684]

71) Which of the following is an early finding a nurse should expect to observe if a patient were to develop
thrombophelebitis following an intravenous infusion

foreaiferlRaa 3 31 lar 2t gridre Siia 3, Sit oRf I As X6t DI el Dl AT b =T ob IS Bl AT RRI SIeRIs & are Jiaaiftafafer
frepR1e dlem 3 =1 o1dl

[Question ID = 172]

1. Mottling and coolness / f&gzer siiz gsa [Option ID = 685]

2. Erythema and heat / of¥dem 3iiz swff [Option ID = 686]

3. Leakage of fluid and numbness / e ugtef @1 f3ma i Foorem [Option ID = 687]

4. Pallor and swelling / titemuer 3tz i1 [Option ID = 688]

Correct Answer :-

e Erythema and heat / ef¥dum 3itz snff [Option ID = 686]

72) While providing health education in the community on prevention of osteoporosis. The nurse should emphasize on
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SRTAURIRTRI & A Uz ISR 3 Fare PIeh Yerol B gu, o &l forel U= ST oIl anfde
[Question ID = 173]

1. Eliminating smoking / gfgruret @ Jacat @on [Option ID = 689]

2. Minimizing sun exposure / 3gf @ Slif¥er @1 w1 wer [Option ID = 690]

3. Restricting sodium intake / 30f¥=wE1 @1 Aaer ik won [Option ID = 691]

4. Restricting exercise / =R @ yferfort aszam [Option ID = 692]

Correct Answer :-
e Eliminating smoking / ggyuret @ Xt won [Option ID = 689]

73) The diagnosis of a patient assigned to the nurse is right sided heart failure. Which of the following condition a nurse can
expect while assessing

o opl AT o1u It I forcrel I8 a6 @ geoI bl fweldr & 3irabetel @ I3 forvatferRaa 3 3t s Rrefer &l srien oref @2 w1l &
[Question ID = 174]

1. Peripheral edema / af¥dzer sfEam [Option ID = 693]

2. Decreased urinary output / 35 Scurget 3 waft [Option ID = 694]

3. Shortness of breath / i dar 3t wfdens [Option ID = 695]

4. Seizure activity / @13 &t siferfafer [Option ID = 696]

Correct Answer :-

e Peripheral edema / af¥wer sfdam [Option ID = 693]

74) A woman is diagnosed to have severe anemia when the hemoglobin is below
Belocllfeel _____ 3 D Blol R Gb Aldell DI ik Gollf3RI Blol @I Uedr @reldr 3
[Question ID = 175]

1. 7gm/dl / 7 gm/dl [Option ID = 697]

2. 10 gm/dl / 10 gm/dl [Option ID = 698]

3. 11gm/dl / 11gm/dl [Option ID = 699]

4. 12 gm/dl / 12 gm/dl [Option ID = 700]

Correct Answer :-

e 7 gm/dl /7 gm/dl [Option ID = 697]

75) Flexible connective tissue that is attached to bone at the joints is called
erediel HeIsht Saw Sit wfer 3 sSt A I3 3l 8, A Bal Sl 3

[Question ID = 179]

1. Cartilage / 3wf3er [Option ID = 713]

2. Tendon / wsa [Option ID = 714]

3. Nerves / dfefiait [Option ID = 715]

4. Muscles / siRmfdrl [Option ID = 716]

Correct Answer :-
e Cartilage / 3wf¥a [Option ID = 713]

76) Vaccine to control diarrhoea is

¥ ot forifea ot @1 dab1 &

[Question ID = 180]

1. Pneumococcal / segirpimet [Option ID = 717]

2. Rotavirus / Jerrr [Option ID = 718]

3. Salk / 3ifew [Option ID = 719]

4. HIB / waarédt [Option ID = 720]

Correct Answer :-
e Rotavirus / Jemrrat [Option ID = 718]

77) The priority interventions under adolescent health programme are
Rpolz Fared GRIGH D ded Yrelfdisdr ad sFdau 3:

[Question ID = 181]

1. Iron and folic acid supplementation / 3mRRer iz BIfers eRrs arrgger [Option ID = 721]
2. Menstrual hygiene / afR¥3rp et Fac@en [Option ID = 722]

3. Preventive health check ups / forare® zarea sifa [Option ID = 723]

4. All of these / 3 awsft [Option ID = 724]

Correct Answer :-
e All of these / & 2pft [Option ID = 724]

78) The key activities under menstrual hygiene scheme are

B ent FaToar Asen & dsd YA sifafafri 3

[Question ID = 182]

1. Safe disposal of sanitary napkin / 3ifercdt stufdser @wr FRfgrT frersr [Option ID = 725]

2. Sourcing and procurement of sanitary napkins / 3férc$t slufdser @t formrt iz zdiG [Option ID = 726]
3. Storage and distribution of sanitary napkins / 3ifsre3t dlufdser @1 sisT2ur il faerzur [Option ID = 727]
4. All of these / 2 Jwsft [Option ID = 728]
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Correct Answer :-
e All of these / & amft [Option ID = 728]

79) All of the following are routes of transmission of HIV virus except
forafeiRaa 3 21 A7 vaRmEdl arrA & Farur @ aet 8, Brart

[Question ID = 183]

1. Sexual transmission / =iia 2i@rur [Option ID = 729]

2. Blood contact / ¥p 3w [Option ID = 730]

3. Fomite transmission / wwmse Jia=ur [Option ID = 731]

4. Maternal fetal transmission / amq opur FiaRur [Option ID = 732]

Correct Answer :-
e Fomite transmission / wiamse it [Option ID = 731]

80) Impairment of heart function due to inadequate blood flow to the heart compared to its needs, caused by obstructive
changes in the coronary circulation of the heart is called

& # UATH 3P Ydle D PRI &¢d Bl PRIgrEIdar i @all, sl &g @ ufdeg uficrur 3 sralell uf¥ader @& o1ru1 did1 3, 33 Pal SIidl 3
[Question ID = 184]

1. Heart failure / 3ga g2 ¥ sien [Option ID = 733]

2. Coronary heart disease / &g - eusit 3ot [Option ID = 734]

3. Pneumonia / sgiiferm [Option ID = 735]

4. Pulmonary failure / gugefir Riwerar [Option ID = 736]

Correct Answer :-
e Coronary heart disease / &g - ewrft 3t [Option ID = 734]

81) Mission Parivar Vikas is an initiative directed to -

RB19r61 ul¥ar fa®rRI o Use 3 Sl & ferg foifdee 3
[Question ID = 185]

1. Promote Antenatal Care / gzra gd Sastrer @ geran ot [Option ID = 737]

2. Promote Breastfeeding / >emurer @t a@ran 3ot [Option ID = 738]

3. Promote Family Planning / uf¥ar foritster @t a@rar de [Option ID = 739]

4. Promote Safe Sexual Practices / 3pfért et gemait a1 aerar o [Option ID = 740]

Correct Answer :-
e Promote Family Planning / uf¥ar friisier @t agrar gait [Option ID = 739]

82) How many diseases are covered under National Vector Borne Disease Control Programme?
ICERI Aare? Siford AeT foriqur wriapt & sideia el disni¥xil ol waz o smar 37

[Question ID = 186]

1. 4-Apr [Option ID = 741]

2. 5-May [Option ID = 742]

3. 6/ 6 [Option ID = 743]

4. 7-Jul [Option ID = 744]

Correct Answer :-
e 6/ 6 [Option ID = 743]

83) Pradhan Mantri Surakshit Matritva Abhiyan (PMSMA) was launched to provide fixed-day assured, comprehensive and

quality antenatal care universally to all pregnant women in

gereRidt FRiEa argea sifdrier (tivsesaesim) 3 0ot opfacdt afgesii @ i Rar Jfoiia, smue sz spuramgui geragd
STHATET YgIol ol D fe1q 9Re fpeIr sRiT e

[Question ID = 187]

1. 2nd trimester / g3t ffemdt [Option ID = 745]

2. 2nd and 3rd trimester / gt iz 7zt et [Option ID = 746]

3. 1st trimester / uscht fpmt [Option ID = 747]

4. 1st and 2nd trimester / usch 3fiz gzt foemdt [Option ID = 748]

Correct Answer :-
e 2nd and 3rd trimester / grd 3itz ozl fepndt [Option ID = 746]

84) The oral contraceptive package of Mala - D contains

et - St @ ARae sniforters Uddst 3 forar onfdrear &

[Question ID = 188]

1. 25 oral contraceptive pills and 3 iron tablets / 25 dii¥awm snfforted siferi sfi 3 smrRret siferi [Option ID = 749]
2. 22 oral contraceptive pills and 6 iron tablets / 22 3iif¥am snffortud sifer sz 6 amrer sifert [Option ID = 750]
3. 21 oral contraceptive pills and 7 iron tablets / 21 #iif3xm srefforers siiferri sz 7 3Rt sifert [Option ID = 751]
4. 20 oral contraceptive pills and 8 iron tablets / 20 #if¥aw swsffordiers siferI 3l 8 smRer sifern [Option ID = 752]

Correct Answer :-
e 21 oral contraceptive pills and 7 iron tablets / 21 sif3aw snpifordiers siferr siiz 7 smrer siferr [Option ID = 751]

85) The natural family planning methods are all of the following except



forgeiferR3aa it grapfere ufvar foristar @ add 3, Rrarr

[Question ID = 189]

1. Symptothermic method / Rewefifas ffer [Option ID = 753]

2. Cervical mucus method / sffar ®=ywat fafer [Option ID = 754]

3. Basal body temperature method / et 981z ameter &t fafer [Option ID = 755]
4. Use of condom / @3t @t 3wt [Option ID = 756]

Correct Answer :-
e Use of condom / @11 @1 3wt [Option ID = 756]

86) The mode of action of hormone releasing intrauterine devices is

sfeilor St 2 sicelsiiort Jusvil @1 @i fafer 3

[Question ID = 190]

1. Enhances the cellular response in the endometrium / smee:=ifor 3t BMIRBRI yferfizn @t @ & [Option ID = 757]
2. Increases the viscosity of the cervical mucus / sffar &=ipa &t Rufmrse agren & [Option ID = 758]

3. Increases sperm motility and capacitation / gy <5t siftrofierar iz grrem g@rem & [Option ID = 759]

4. Creates a favourable environment for implantation / gremtuur @ fére sigjaset armazvr geien & [Option D = 760]

Correct Answer :-
e Increases the viscosity of the cervical mucus / sffar =i &t Rufrge agren & [Option ID = 758]

87) All of the following are barrier methods of contraception except
forgsifcii¥aa 1sft spifoRIers &t aren AR 3, Rrarr

[Question ID = 191]

1. Diaphragm / arezrae [Option ID = 761]

2. Nova T / sirar & [Option ID = 762]

3. Vaginal sponge / =ifor 2ust [Option ID = 763]

4. Condom / @3t [Option ID = 764]

Correct Answer :-
o Nova T / sirar & [Option ID = 762]

88) National Mental Health Policy of India was launched in?
$RA I AR AGIRID IR oiifel Pt I3 oa & 318 ofi?
[Question ID = 192]

1. 1982 / 1982 [Option ID = 765]

2. 1987 / 1987 [Option ID = 766]

3. 1994 / 1994 [Option ID = 767]

4. 2014 / 2014 [Option ID = 768]

Correct Answer :-

e 1982 / 1982 [Option ID = 765]

89) “The nurse informs the physician about the deviation in the recovery of the patient by understanding that certain
remedial actions are necessary” is an example of

or*f Rifdpeeres ot Al 6t sIRIsa Yftt 3 Kererer @ @ 3 A6 WIEID: YRM Bl & b B SUaRAS RRIe e 3 a6 @1
Qb IBIEAT

[Question ID = 193]

1. Complex level critical thinking / Sifeer 3= &t araeayyf 2t [Option ID = 769]

2. Commitment level critical thinking / gferagen 3z &t srgeayof i@ [Option ID = 770]

3. Basic level critical thinking / gformct = 6t ararayef 3ra [Option ID = 771]
4. Advanced level critical thinking / 3sort a2 &t sgeaygyf 3 [Option ID = 772]

Correct Answer :-

e Basic level critical thinking / gfernct 1= <&t argrayuf 3xa [Option ID = 771]

90) Nurses must consider the following five rights while administering medications except
garsil ol yenli ww IR oril @l frsfilRaa g sifererl’ w e oo mfde, Rart

[Question ID = 194]

1. Right patient / 3 3mft [Option ID = 773]

2. Right posture / 3t 3151 [Option ID = 774]

3. Right time / i@ 3wwr [Option ID = 775]

4. Right dose / ¥t g [Option ID = 776]

Correct Answer :-

e Right posture / 2@t 3551 [Option ID = 774]

91) A technique of repeating the main message expressed by the nurse is called as
o FRI RIp fpU 31U PRI 9! B leral Bl awolias waardl &

[Question ID = 195]

1. Listening / Jeten [Option ID = 777]

2. Restating / fi53 31 wson [Option ID = 778]

3. Clarification / susdla2ur [Option ID = 779]

4, Reflection / yfeiféia [Option ID = 780]
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Correct Answer :-
e Restating / fis2 3t waan [Option ID = 778]

92) A newborn is assessed for APGAR at five minutes after birth. The score is 8. What does this indicate2
STed @ Uikl fere a6 eUisesR @ e v orasia f219] @T geiicrer fpun S 8 ¥Rk 8 & us R gorfar 8

[Question ID = 196]

1. No depression / @1$ f3grer aréf [Option ID = 781]

2. Mild depression / scwr 399 [Option ID = 782]

3. Moderate depression / szt et [Option ID = 783]

4. Severe depression / srcafien f3Yret [Option ID = 784]

Correct Answer :-
e No depression / @1 f3grer arét [Option ID = 781]

93) Beneficiaries of SUMAN except?
I SIs®2 JIHel D cmerelf 37
[Question ID = 197]
1. Al pregnant Women / Jisft stefereft aifgems [Option ID = 785]
2. Mothers up to 6 months of delivery / gera @ 6 sidier arep bt a1 [Option ID = 786]
3. All sick newborns / it diemz srsma [Option ID = 787]
4. All Children upto 3 years / 3 et @ @ 21sft g [Option ID = 788]

Correct Answer :-
e All Children upto 3 years / 3 et < @ sft a=at [Option ID = 788]

94) India observes National Vaccination Day every year on
3IRA & ad R AR EpIpvT ot Jretrar 8
[Question ID = 198]

12th March / 12 @it [Option ID = 789]

18th March / 18 af [Option ID = 790]

16th March / 16 ai [Option ID = 791]

25th March / 25 &t [Option [D = 792]

D WN -

Correct Answer :-

e 16th March / 16 airf [Option ID = 791]

95) The time interval between the invasion by an infectious agent and just apperance of the signs and symptoms of the
diseases

Uh ABRID I SR IV 32 A0 B Idd i agit 6 ufFerfer @5 dia @1 IR sidRrc

[Question ID = 199]

1. Latent Period / e smfar [Option ID = 793]

2. Quarantine / @ride [Option ID = 794]

3. Incubation Period / seagaeret amfer [Option ID = 795]

4. Termination Period / efifotorer srafér [Option ID = 796]

Correct Answer :-

e |ncubation Period / searaoret sfer [Option 1D = 795]

96) The person who transmits the message is called
A1 AR B0l arcl RIRE @l foreol @ar ST 3
[Question ID = 200]

1. Encoder / wsiatss [Option ID = 797]

2. Receiver / gt [Option ID = 798]

3. Decoder / f¥@rsz [Option ID = 799]

4. Thinker / f@m® [Option ID = 800]

Correct Answer :-

e Encoder / wermisz [Option ID = 797]

97) Tone of voice, facial expression and body language belongs to which type of communication
SIATST BT 2, UG DI UM 3R IREe ar 5 yor & JAar A Hdita &

[Question ID = 201]

1. Verbal / onféeers [Option ID = 801]

2. Non verbal / signfegas [Option ID = 802]

3. Formal / aiwenfy [Option ID = 803]

4. Structured / =RE [Option ID = 804]

Correct Answer :-
e Non verbal / srenféew [Option ID = 802]

98) Identify this instrument?

A IUDIVI B UEIeT BI7
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Question ID = 205]
1. Dissecting Forceps / wracadl sigar

[Option ID = 817]
2. Dilator / Rrar®

[Option ID = 818]
3. Spatula / RAgen

[Option ID = 819]
4. B.P handle / it &sa

[Option ID = 820]
Correct Answer :-
e B.P handle / dift 3sa
[Option ID = 820]

99) Identify this instruments?

I IUHVI bl ugdrel Bb3I?

~\

__dnasierndom

[Question ID = 206]
1. LV cannula / st qaermsit

[Option ID = 821]
2. Vessel dilator / @it feamrs

[Option ID = 822]
3. Lumbar puncture needle / wfe der Jfror

[Option ID = 823]
4. Long needle / =t 38

[Option ID = 824]

Correct Answer :-

® Lumbar puncture needle / wfe du FRrpT
[Option ID = 823]

100) Name of this machine?

31 aroftet b1 ol a=m &7
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[Question ID = 207]
1. Cardiac monitor / @if$uw Jifores

[Option ID = 825]
2. Defibrillator / Ridgfamuferg

[Option ID = 826]
3. Pulse oximeter / ucar sifaefisfics

[Option ID = 827]
4. Portable Ventilator / diéaer ddlde

[Option ID = 828]
Correct Answer :-

e Defibrillator / Ridqfrmufery
[Option ID = 826]
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